## Purchase Order

## Deluxe Caterers Pvt. Ltd. Order Number : DCPI /PO/24-25/000400

Supplier Detail	Shipped Location	Invoice Location
BAY INTERIORS PRIVATE LIMITED Supplier Code : RV232420169 [ RV232420169 ]	Deluxe Caterers Pvt. Ltd. CC M5 Ecity Mall	Deluxe Caterers Pvt. Ltd. CC M5 Ecity Mall
(RV232420169)	R1, 4th Floor, M5 Ecity Mall, Veerasandra Industrial Area, Electronic City, Bangalore – 560100	R1, 4Th Floor, M5 Ecity Mall, Veerasandra Industrial Area, Electronic City, Bangalore – 560100 GSTIN No : <b>29AAACD1685R1ZZ</b>
PAN No : <b>AAMCB0743L</b> Supplier GST No : <b>09AAMCB0743L1ZE</b> Supplier Contact No : <b>9548609567</b> Contact Person Name : <b>Mehran Raza</b> Supplier Email : <b>bayinteriorsItd@gmail.com</b>	Cost Center Code : CC M5 Ecity Mall Cost Center Name : CC M5 Ecity Mall Project ID : 0 PO Category : Capex NSO	<ul> <li>Payment Term : Mobilization advance- Advance up 25% without GST against submission of cancelled cheque.</li> <li>RA Bill 1- Upto 60% upon work completions and join certification of RA Bill</li> <li>RA Bill 1- Upto 85% upon work completions and join certification of RA Bill</li> <li>Final Bill upto 95% upon final work completion and submission of final bill</li> <li>Retention of 5% to be released post completion of DLP or submission of BG</li> <li>PO Creation Date : 03/01/2025</li> <li>PO Approval Date : 04/01/2025</li> <li>PO Currency : INR</li> <li>Buyer Name : Binu Balachandran</li> </ul>

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
	Electrical Work	9954	Electrical Works	Electrical Works	C01	1.00	EA	1,591,790.00	0.00	1,591,790.00	1,591,790.00	18	1,878,312.20
				. 1	Fotal Qty	1.00							

Total Basic PO Amount	1,591,790.00
Total Other Charges	
IGST Amount	286,522
Grand Total PO Amount	1,878,312.20

Amount In Words : Rupees Eighteen Lakh Seventy Eight Thousand Three Hundred Twelve And Twenty Paisa Only

Remarks : L1 vendor post auction

Standard Terms And Condition :

Completion / Delivery TimeLine : 31/01/2025

Mobilization Date : 06/01/2025

**Defects Liability Period :** 30/06/2025

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Abdul R	+91 99202 92129					
Binu Balachandran	8452876061					

## Disclaimer :

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2 : Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ltemC ItemN							
Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1		10 sq.mm x 4 core Copper Armoured Cable - Supply and Installation Connection of 1100 V Grade Armoud Cable Having Sector Circular Shaped Aluminium Copper Conductor PVC insulated Cores, Laid Up, PVC Tape Wrapped Inner Sheathed, GI Strip Wire Armoured And Over All Extruded PVC Sheathed Confirming To IS 1554, Laid On Wall) Ceiling Using GI Clamps And Spacer As Per Route Shown At Site And Further As Directed By Consultant At Site in the following size.	Mtr		35.00	770.00	26,950.00
2		16 sq.mm x 4 core Copper Armoured Cable - Supply and Installation Connection of 1100 V Grade Armoud Cable Having Sector Circular Shaped Aluminium Copper Conductor PVC insulated Cores, Laid Up, PVC Tape Wrapped Inner Sheathed, GI Strip Wire Armoured And Over All Extruded PVC Sheathed Confirming To IS 1554, Laid On Wall) Ceiling Using GI Clamps And Spacer As Per Route Shown At Site And Further As Directed By Consultant At Site in the following size.	Mtr		160.00	960.00	153,600.00
3		Supply and insta <mark>llation</mark> testing commission of - 16A 10kA SP MCB	Nos		65. <mark>00</mark>	320.00	20,800.00
4		Supply Installati <mark>on te</mark> sting co <mark>mmis</mark> sion of following 16 way SPN DB Box Fixing with Proper Cable Tie and Lugs Fixing	Nos		1.00	2,650.00	2,650.00
5		Supply and installation testing commission of following L T make VFD PANEL suitable motors (FOR KITCHEN EXHAUST FRESH AIR BLOWER) 5 HP VFD - 2 Nos, 7.5 HP VFD - 1 Nos and One Dol starter provision	Nos		1.00	160,000.00	160,000.00
6		Main LT Panel - Supply Installation Testing Commissioning of 3Ph, 415V, 50Hz Main LT Panel 1 as per SLD	Nos		1.00	255,000.00	255,000.00
7		Supply and installation of 20 mm MS Conduit including Chasing and Refilling the Trench As per the Rout Shown in the drawing and approved by Consultant at site including clamping and closing the Open Pipe and Temporarily by suitable And Covers Against Entry of Dust or any Other Foreign Materials.	Mtr		700.00	172.00	120,400.00
8		Supply and installation of 25 mm MS Conduit including Chasing and Refilling the Trench As per the Rout Shown in the drawing and approved by Consultant at site including clamping and closing the Open Pipe and Temporarily by suitable And Covers Against Entry of Dust or any Other Foreign Materials.	Mtr		500.00	212.00	106,000.00
9		Installation of Insect Killer	Nos		2.00	500.00	1,000.00
10		Supply Installation connection testing and commission of following 2 Core Flexible WIRE Copper Conductor PVC insulated Wires Pulled Through Heavy Gauge Laid Concealed over False Ceiling Orin Wall Chases for Speaker And SubWoofer. (Within Existing conduit) - Music System	Mtr		180.00	65.00	11,700.00
11		Supply and installation of concealed wiring using 2 x 4 sqmm,1 x 2.5 sq.mm FRLS Copper Conductor PVC Insulated wires (with proper R.Y.B. Colour Code)Laid Concealed Over false Ceiling or in wall chases Proper Fixing	Mtr		250.00	171.00	42,750.00

12	6 sq.mm x 4 core Copper Armoured Cable - Supply and Installation Connection of 1100 V Grade Armoud Cable Having	Mtr	160.	430.00	68,800.00
	Sector Circular Shaped Aluminium Copper Conductor PVC insulated Cores, Laid Up, PVC Tape Wrapped Inner Sheathed, GI Strip Wire Armoured And Over All Extruded PVC Sheathed				
	Confirming To IS 1554, Laid On Wall) Ceiling Using GI Clamps And Spacer As Per Route Shown At Site And Further As Directed By Consultant At Site in the following size.				
13	Supply and installation testing commission of -40 A 2pole 30ma DP + RCBO	Nos	3.	2,950.00	8,850.00
14	Supply and installation testing commission of - 32 A 4 Pole 100ma TPN MCB	Nos	2.	4,500.00	9,000.00
15	Supply and installation connection of G.I 25mm x 6mm Earthing Patti	Mtr	95.	00 141.00	13,395.00
16	Supply and installation testing commission of -40A4 Pole 100ma TPN MCB	Nos	1.	00 4,700.00	4,700.00
17	Supply and installation connection Testing and commissioning of following 1.5 sq.mm x 2 core Copper Armoured Cable for FAS System	Mtr	105.	00 145.00	15,225.00
18	50 sq.mm x 3.5 coreXLPE INSULATED ALUMINIUM ARMORED CABLE - Supply and Installation Connection of 1100 V Grade Armoud Cable Having Sector Circular Shaped Aluminium Copper Conductor PVC insulated Cores, Laid Up, PVC Tape Wrapped Inner Sheathed, GI Strip Wire Armoured And Over All Extruded PVC Sheathed Confirming To IS 1554, Laid On Wall) Ceiling Using GI Clamps And Spacer As Per Route Shown At Site And Further As Directed By Consultant At Site in the following size.	Mtr	10.	00 735.00	7,350.00
19	Supply Fixing of - 10 sq.mm x 4 core Glands	Nos	2.	150.00	300.00
20	Supply and installation testing commission of - 10A 10kA SP MCB	Nos	41.	320.00	13,120.00
21	Supply and installation testing commission of - 32 A 2pole 30ma DP + RCBO	Nos	3.	2,500.00	7,500.00
22	Supply and installation testing commission of - 25A 2pole 30ma DP + RCBO	Nos	7.	2,500.00	17,500.00
23	Supply and installation testing commission of .63A4 Pole 100ma TPN MCB	Nos	1.	4,900.00	4,900.00
24	Supply Installation testing commission of following 6 way TPN DB Box Fixing with Proper Cable Tie and Lugs Fixing	Nos	1.	5,600.00	5,600.00
25	Supply and punching of double compression gland of 6 sq.mm x 4 core Glands	Nos	24.	00 184.00	4,416.00
26	Supply and installation testing commission of - 25A 10kA SP MCB	Nos	6.	00 320.00	1,920.00
27	Supply and punching of double compression gland of 16 sq.mm x 4 core Glands	Nos	8.	00 238.00	1,904.00
28	Supply Installation testing commission of following 16 way TPN DB Box Fixing with Proper Cable Tie and Lugs Fixing	Nos	1.	8,700.00	8,700.00
29	Supply Installation of - 10 Modular plate with box	Nos	4.	360.00	1,440.00
30	Installation, testing commissioning of - SPOT LIGHT 1 - LT1	Nos	10.	00 100.00	1,000.00
31	Supply Installation of - 5 15A 5 pin socket	Nos	15.	00 225.00	3,375.00
32	BULB - LT6	Nos	56.	00 75.00	4,200.00
33	Supply Installation of - 5 15A 5 pin switch	Nos	15.	00 165.00	2,475.00
34	Exhaust Motor Connection	Nos	2.	00 500.00	1,000.00

35	Supply Installation of - Data Socket	Nos	15.00	650.00	9,750.00
36	Installtion of Air Curtain	Nos	2.00	500.00	1,000.00
37	Supply Installation of - Blank Plate	Nos	12.00	30.00	360.00
38	Supply and fixing of 100mm x 100mr	n Casing Box Mtr	25.00	850.00	21,250.00
39	Supply Fixing of - 4 sq.mm Pin Type	Lugs (Alluminium) Nos	12.00	20.00	240.00
40	Supply Installation of - 8 Modular Su	Irface Box Nos	5.00	) 110.00	550.00
41	Supply Fixing of - 16 sq.mm Pin Typ	e Lugs (Alluminium) Nos	8.00	35.00	280.00
42	Supply and installation of 150mm x 1 Cover plate	50 mm Junction Box with SS Nos	2.00	500.00	1,000.00
43	Supply Fixing of - 16 sq.mm x 4 cor	e Glands Nos	2.00	) 155.00	310.00
44	Supply and Installation connection Te following Cat 6 Data Cable Wire (Dat		525.00	) 70.00	36,750.00
45	Supply Fixing of - 50 sq.mm x 3.5 co	ore Glands Nos	2.00	250.00	500.00
46	Supply and installation testing commi 4way weather proof box fixing for out fixing		4.0	0 1,675.00	6,700.00
47	Supply Fixing 15 A Top	Nos	15.00	125.00	1,875.00
48	Supply and Instal <mark>lation</mark> of Ceili <mark>ng Ros</mark>	ie Nos	45.00	25.00	1,125.00
49	Supply and installation connection tes following 3 Face 5 TPN 32 A Socket Top,32A 4pole TPN MCB complete fix	t, With Box and 3 Face	2.0	6,000.00	12,000.00
50	Installation, tes <mark>ting</mark> commissi <mark>oning</mark> o	f - HANGING LI <mark>GHT 2 -</mark> LT8 Nos	1.00	200.00	200.00
51	Installation, testing commissioning o	f - WALL MOUNTED - LT9 Nos	8.0	150.00	1,200.00
52	Installation, testing commissioning o (Legnth - 900mm)	of - TRACK LIGHT - TL1 Nos	10.00	150.00	1,500.00
53	Fresh Air Motor Connection	Nos	2.00	500.00	1,000.00
54	Supply Installation of - 6 Modular pla	ate with box Nos	13.00	250.00	3,250.00
55	Supply Installation of - 2 Modular pla	ate with box Nos	2.00	130.00	260.00
56	Supply and fixing of 150mm x 150mm	n Casing Box Mtr	35.00	1,850.00	64,750.00
57	Supply Fixing of Lugs Punching	Nos	0.0	0.00	0.00
58	Supply Fixing of - 6 sq.mm Ring Typ	e Lugs (Alluminium) Nos	24.00	22.00	528.00
59	Supply Fixing of - 50 sq.mm Ring Ty	/pe Lugs (Alluminium) Nos	4.00	55.00	220.00
60	Supply Fixing of - 4 sq.mm x 4 core	Glands Nos	3.00	80.00	240.00
61	Supply Installation of - USB charging	g Sockets Nos	10.00	1,100.00	11,000.00
62	Supply and installation of 100mm x 1 Cover plate	00 mm Junction Box with SS Nos	2.00	350.00	700.00
63	Supply fixing of 300mm x 50mm x 2 tray.		30.00	) 1,350.00	40,500.00
64	Supply fixing of 150mm x 50mm x 2 tray.	mm thick perforated cable Mtr	45.00	850.00	38,250.00
65	Rubber Mat	Nos	2.00	1,500.00	3,000.00

66	Chasing and Refilling drawing and approve closing the Open Pipe	n of 20 mm Flexible MS Conduit including the Trench As per the Rout Shown in the d by Consultant at site including clamping and e and Temporarily by suitable And Covers or any Other Foreign Materials.	Mtr	70.00	42.50	2,975.00
67	Chasing and Refilling drawing and approve closing the Open Pipe	n of 25 mm Flexible MS Conduit including the Trench As per the Rout Shown in the d by Consultant at site including clamping and e and Temporarily by suitable And Covers or any Other Foreign Materials.	Mtr	70.00	52.50	3,675.00
68	x 1.5 FRLS Copper C	n of concealed wiring using 2 x 2.5 sqmm,1 conductor PVC Insulated wires (with proper .aid Concealed Over false Ceiling or in wall	Mtr	885.00	110.00	97,350.00
69	FRLS Copper Condu	n of concealed wiring using 3 X1.5 sqmm ctor PVC Insulated wires (with proper R.Y.B. ncealed Over false Ceiling or in wall chases	Mtr	580.00	75.00	43,500.00
70	Installation Connection Sector Circular Shap insulated Cores, Laid Strip Wire Armoured Confirming To IS 155	pper Armoured Cable - Supply and on of 1100 V Grade Armoud Cable Having ed Aluminium Copper Conductor PVC Up, PVC Tape Wrapped Inner Sheathed, GI And Over All Extruded PVC Sheathed 4, Laid On Wall) Ceiling Using GI Clamps And Shown At Site And Further As Directed By the following size.	Mtr	45.00	360.00	16,200.00
71		esting co <mark>mmis</mark> sion of followi <mark>ng 8 w</mark> ay TPN DB er Cable Tie and Lugs Fixing	Nos	2.00	5,800.00	11,600.00
72		n testing <mark>comm</mark> ission of followin <mark>g single</mark> Ided socket and MCB with top and box	Nos	8. <mark>00</mark>	1,450.00	11,600.00
73	Supply and installatio switch and socket Ca	n testing commission of following 6 16A	Nos	25. <mark>00</mark>	65.00	1,625.00
74	Installation, testing	commissioning of - SPOT LIGHT 2 - LT2	Nos	23.00	100.00	2,300.00
75	Installation, testing LIGHT- 3000K - LT3	commissioning of - 2 X 2 CEILING MOUNT	Nos	4.00	250.00	1,000.00
76	Installation, testing LIGHT-6000K - LT4	commissioning of - 2 X 2 CEILING MOUNT	Nos	12.00	250.00	3,000.00
77	Installation, testing	commissioning of - LED COVE LIGHT - LT5	Mtr	12.00	65.00	780.00
78	Installation, testing	commissioning of - HANGING LIGHT 1 - LT7	Nos	4.00	200.00	800.00
79	TUBELIGHT (Legnth	- 1200mm) (Supply Installation)	Nos	4.00	400.00	1,600.00
80	Supply and fixing of	75mm x 75mm Casing Box	Mtr	25.00	450.00	11,250.00
81	Supply Fixing of - 10	) sq.mm Pin Type Lugs (Alluminium)	Nos	8.00	32.00	256.00
82	Supply Fixing of - 6	sq.mm x 4 core Glands	Nos	6.00	80.00	480.00
83	Supply and punching core Glands	of double compression gland of 4 sq.mm x 4	Nos	12.00	150.00	1,800.00
84	4 core Glands	of double compression gland of 10 sq.mm x	Nos	8.00	234.00	1,872.00
85	Supply and punching 3.5 core Glands	of double compression gland of 50 sq.mm x	Nos	 4.00	376.00	1,504.00
86	Supply Fixing 5 A To		Nos	5.00	75.00	375.00

87		Supply Installation of - 8 Modular plate (Horizontal) with box	Nos		1.00	310.00	310.00
88		Supply Installation of - 4 Modular plate with box	Nos		2.00	195.00	390.00
89		Supply Installation of - 3 Modular plate with box	Nos		16.00	165.00	2,640.00
90		Supply Installation of - 16A switch socket metal Box	Nos		13.00	250.00	3,250.00
91		Supply Installation of - 5 15A 3 pin socket	Nos		10.00	185.00	1,850.00
	Total						1,591,790.00

